DITE

BT

SH6E6H13H(K)

JIE 452 K4 ouT | IN [ bx|H D[ NET S
1 XHF 1T1E 37 43 80 | 16.8 | 63.2

2 LESEE e 38 47 85 20 65

3 fifl == 42 41 83 | 176 | 654

4 BH B 43 40 83 | 168 | 66.2

5 wg F— 38 41 79 [ 112 | 678

6 INI B 38 43 81 12 69

7 A& BE 33 41 74 48 | 69.2

8 AR FIB 43 49 92 | 224 | 69.6

9 =2 B 38 42 80 [ 104 | 69.6

10 CIEE] 42 42 84 | 136 | 704

11 HE EIE 36 45 81 10.4 | 70.6

12 —i% PR 34 47 81 104 | 706

13 1k —ER 35 39 74 32 | 708 BGE
14 ¥ X4&E 40 42 82 [ 112 ] 708

15 HLE EF 33 42 75 4 71

16 | BREH Z=—BR8 | 4 43 84 | 128 | 71.2 NP
17 SH BE 34 42 76 48 | 71.2

18 i EZ 43 41 84 | 128 | 71.2

19 A B— 38 47 85 | 136 | 71.4

20 K 39 48 87 156 | 71.4

21 | 8% HHX | 39 48 87 | 156 | 71.4

22 Ek &g 39 43 82 | 104 | 716 NP
23 KMt = 44 50 94 | 224 | 716

24 Z2F = 36 40 76 4 72

25 AT BB 44 45 89 | 168 | 722

26 il EE 42 40 82 96 | 72.4

27 EH E# 41 46 87 | 144 | 726

28 S BE 36 39 75 24 | 726

29 B FEs 42 50 92 19.2 | 72.8

30 =ik Bk 38 43 81 8 73 NP2
31 s RS 50 48 98 | 248 | 73.2

32 H:& B— 37 45 82 88 | 732

33 INET BsE 43 47 90 16.8 | 73.2

34 XEF BZ 38 48 86 | 128 [ 732

35 A S 44 47 91 176 | 734

36 a3k 43 48 91 176 | 734

37 g £ 41 39 80 6.4 | 73.6

38 Wi = 43 49 92 18.4 | 73.6

39 ZREE 188 A 53 94 | 204 | 736

40 B {5 43 50 93 19.2 | 738 NP
41 RE F 41 40 81 72 | 738

42 IMR BSE 42 47 89 | 152 [ 738




43 & A 47 51 98 24 74
44 ik B 47 47 94 20 74
45 Y& KA 42 41 83 88 | 742
46 T8 Efh 40 51 91 16.8 | 74.2
47 CE FEhR 40 47 87 12.8 | 74.2
48 k5 IE# 39 53 92 | 176 | 744 NP
49 EE BN 41 39 80 56 | 74.4
50 ZIL HeE 37 44 81 6.4 | 74.6 NP
51 e it 45 48 93 | 184 | 746
52 es 2 43 50 93 | 184 | 746
53 S B 41 44 85 | 104 | 746
54 KE Fig 42 47 89 | 144 | 746
55 Kix B 41 49 90 | 152 | 748
56 B HEF 41 47 88 | 132 | 748
57 =1 BE 47 44 91 16 75
58 AiE B 42 46 88 12.8 | 75.2
59 Tk HEn 42 50 92 16.8 | 75.2
60 fngE ES 44 49 93 | 176 | 754 NP
61 ik B 40 45 85 96 | 75.4
62 Bk BX 37 44 81 56 | 75.4
63 N & 46 47 93 | 176 | 754
64 il FAK 37 41 78 24 | 756
65 HE FE 47 56 103 | 272 [ 758
66 FEE E— 47 44 91 15.2 | 758
67 iEk BE 39 40 79 32 | 758
68 | {EB&R E—ER | 51 50 101 | 252 [ 758
69 KT %R 43 50 93 16.8 | 76.2
70 Xifs AE 41 56 97 | 208 | 76.2
71 Tk %8B 44 45 89 [ 128 | 76.2
72 EH BEh 44 46 90 136 | 76.4
73 FARE A 42 56 98 | 216 | 76.4
74 E = 45 58 103 | 264 | 766
75 £ N 43 45 88 | 112 | 768
76 =ZE 1EA 41 48 89 12 77
77 =H ER 39 42 81 4 77
78 Bl FlE 48 46 94 | 168 [ 77.2
79 ik S - 36 42 78 08 | 77.2
80 gk B 43 48 91 136 | 77.4
81 B H &g 44 51 95 | 176 | 774
82 b8 HiER 48 48 96 | 184 | 776
83 ik I5J8 39 57 96 | 184 [ 776
84 B FX 40 44 84 64 | 776
85 | 8K =—BHR | 40 53 93 | 152 | 77.8
86 ¥y BaE 46 43 89 [ 112 | 778
87 AFT ESE 43 50 93 | 152 [ 778
88 HOEAR 48 46 94 16 78




89 ¥2E HE 42 48 90 12 78
90 EH =4 44 55 99 208 | 78.2
91 fah EB 43 48 91 12.8 | 78.2
92 BE X 45 54 99 | 208 | 78.2
93 IMIL FER 44 52 9 | 176 | 784
94 MA B 48 49 97 | 184 | 786
95 B HEZ 44 49 93 | 144 | 786
96 Tk IFERS 45 50 95 16 79
97 Sl &5 46 53 99 20 79
98 INIL ER 41 54 95 16 79
99 R BE 43 53 96 16.8 | 79.2
100 | F#= HEEE | 48 48 96 | 16.8 | 79.2
101 AR IER 42 47 89 96 | 79.4
102 | TRk BER 46 51 97 | 176 | 794
103 | iFH #o3 45 44 89 96 | 79.4
104 | XX iz 48 49 97 | 176 | 794
105 = E 46 56 102 | 224 | 796
106 | GAHF W= 45 45 90 | 104 [ 796
107 HO A 41 45 86 64 | 796 NP
108 | A% BX 41 54 95 | 152 [ 798
109 | MR B— 41 46 87 7.2 | 79.8
110 | Il 08K 45 53 98 | 176 | 804
111 | 8 EHKF | 47 51 98 17.6 | 80.4
112 aH R 43 49 92 11.2 | 80.8
113 ¥ BR 48 44 92 11.2 | 80.8
114 | ¥¥F B 47 54 101 20 81
115 #Z —Ah| 45 53 98 | 16.8 [ 81.2
116 TRk & 43 51 94 | 128 [ 81.2
117 i N 41 53 94 | 128 | 81.2
118 | #it ZRE | 43 51 94 | 128 [ 81.2
119 [ £ Bt 42 46 88 64 | 816
120 [ K+ @B 47 61 108 | 264 | 816
121 INE EBHE 44 55 99 | 16.8 [ 82.2
122 | /F BE 40 51 91 8.8 | 822
123 | 4% BE 43 49 92 8.8 | 832
124 | EBPFr #s=E 46 50 96 | 12.8 [ 83.2
125 [ HF MEER 45 56 101 | 176 | 834
126 Bk 51 50 101 | 176 | 834
127 | #EH FEE 53 50 103 | 19.2 | 838
128 ik EZ 46 59 105 | 20.8 | 84.2
129 [ —~F K —[& | 45 57 102 | 176 | 844
130 =¥ B 43 47 90 56 | 84.4
131 A3 #iBR 47 55 102 | 176 | 844
132 | &3 BEE—ER | 46 46 92 7.2 | 8438
133 $5K IEBR 47 57 104 | 18.4 | 856
134 | KA FfE | 50 54 104 | 176 | 86.4




135 B B2 53 55 108 20 88
136 #FH HR 45 52 97 8.8 | 88.2
137 | &8 RAM 58 57 115 | 264 | 88.6 NP




